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Subroutine User_Mod (JOB, MODEL, UNDRAINED, STEPNUMBER, ITERNUMBER, ELEMNUMBER,
INTEGNUMBER, X, Y, Z, TO, DT, USRVAL, SIGO, PPO,
USRSTAO, DEPS, SE, BULKWATER, SIG, PP USRSTA, PLASTICSTATUS, NUS,
NONSYM, STRESSDEP, TIMEDEP, TANGENT,
PROJECTDIRECTORY, PROJECTLENGTH, ERROR);
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DT(A =, & X A"o FE ARt
USRVAL(A == Hi Y, 3) AHERE ol M=z ol metolH HiE(1-50)
SIGO(H == HiE, &3) AN HEFEOM o™ A" =Y 2 3H U OE 7k
08,00,0.00. 0 P
2DQ 4R, yz, zx S22 0




PPO(E 5=, &) Co| Ha
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DOI=1,6
DOJ=1,6
SIG(I) = SIG(I) + SE(l, J) * DEPS(J)
ENDDO
ENDDO

3. 72 ME 28 HWE A

E = USRVAL(1)
V = USRVAL(2)
G = E/2/(1.0+V)
FAC = 2*G/(1.0-2*V)
VAL1 = FAC*(1-V)
VAL2 = FAC*V
SE=0.0
SEU1) VAL1
SE(1,2) = VAL2
SE(1,3) = VAL2
SE(2,1) = VAL2
SE(2,2) = VAL1
SE(2,3) = VAL2
SE(3,1) = VAL2
SE(3,2) = VAL2
SE(3,3) = VAL1
SE(4,4)=G
SE(5,5)= G
SE(6,6) = G
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5. dE E/d HI2H(NONSYM, STRESSDEP, TIMEDEP, TANGENT)



NONSYM =1
STRESSDEP =1
TIMEDEP =1
TANGENT = 1
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SUBROUTINE GETMODELCOUNT( NMODEL )
IMPLICIT NONE
INTEGER (KIND=4) NMODEL
IDEC$ ATTRIBUTES DLLEXPORT, STDCALL, REFERENCE :GETMODELCOUNT

NMODEL = 1
RETURN
END ! GETMODELCOUNT

SUBROUTINE GETMODELNAME( MODEL , MODELNAME )
IMPLICIT NONE
INTEGER, INTENT(IN) :: MODEL
CHARACTER (LEN= * ) MODELNAME
CHARACTER (LEN=255) TNAME
INTEGER LT
IDEC$ ATTRIBUTES DLLEXPORT, STDCALL, REFERENCE :: GETMODELNAME

SELECT CASE (MODEL)
CASE(1)
TNAME = 'ELASTIC'
LT = LEN_TRIM(TNAME)
MODELNAME= CHAR(LT) // TNAME(T:LT)
END SELECT ! MODEL
RETURN
END ! GETMODELNAME

SUBROUTINE GETPARAMCOUNT( MODEL , NVAL )
IMPLICIT NONE
INTEGER MODEL, NVAL
IDEC$ ATTRIBUTES DLLEXPORT, STDCALL, REFERENCE ::  GETPARAMCOUNT
NVAL = 2
END ! GETPARAMCOUNT




SUBROUTINE GETPARAMNAME( MODEL, PARAM, PARAMNAME )
IMPLICIT NONE
INTEGER, INTENT(IN) :: MODEL
INTEGER, INTENT(IN) :: PARAM
CHARACTER (LEN= * ) PARAMNAME
CHARACTER (LEN=255) TNAME
INTEGER LT
IDEC$ ATTRIBUTES DLLEXPORT, STDCALL, REFERENCE :: GETPARAMNAME

SELECT CASE (MODEL)

CASE(1)
SELECT CASE (PARAM)
CASE (1)
TNAME ="F'
CASE (2)
TNAME = 'NU'

END SELECT ! PARAM
END SELECT ! MODEL

LT = LEN_TRIM(TNAME)
PARAMNAME= CHAR(LT) // TNAME(1:LT)
RETURN

END ! GETPARAMNAME

SUBROUTINE GETPARAMUNIT( MODEL, PARAM, PARAMUNIT )
IMPLICIT NONE
INTEGER, INTENT(IN) :: MODEL
INTEGER, INTENT(IN) :: PARAM
CHARACTER (LEN= * ) PARAMUNIT
CHARACTER (LEN=255) TNAME
INTEGER LT
IDEC$ ATTRIBUTES DLLEXPORT, STDCALL, REFERENCE ::  GETPARAMUNIT

SELECT CASE (MODEL)
CASE(1)
SELECT CASE (PARAM)
CASE (1)
TNAME = 'F/LA2#'




CASE (2)
TNAME ="
END SELECT ! PARAM
END SELECT ! MODEL

LT = LEN_TRIM(TNAME)
PARAMUNIT= CHAR(LT) // TNAME(1:LT)
RETURN

END ! GETPARAMUNIT
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